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Hour


Atomic Mass
1.
Element X has two isotopes, 3X and 4X.  The relative abundances of these 
isotopes are 0.01% and 99.99%.  What is the atomic mass of this element?


X is most likely what element?

2.
Element X has two isotopes, 12X and 13X.  The relative abundances of these 
isotopes are 98.89% and 1.11%.  What is the atomic mass of this element?


X is most likely what element?

3.
Element X has two isotopes, 63X and 65X.  The relative abundances of these 
isotopes are 69.1% and 30.9%.  What is the atomic mass of this element?


X is most likely what element?

4.
So far you have been solving several atomic mass problems.  Why have the 
masses not come out exactly like the numbers for atomic mass on the periodic 
table?

5.
The four isotopes of lead are as follows:


Protons
Neutrons
Percent Abundance

82
122
1.37


82
124
26.26


82
125
20.82


82
126
51.55


Using this data, calculate the atomic mass of lead.

7.
Lithium has two naturally occurring isotopes.  Lithium-6 has an atomic mass of 
6.015 amu;  lithium-7 has an atomic mass of 7.016 amu.  The atomic mass of 
lithium is 6.941 amu.  What is the percentage of both lithium-6 and lithium-7 in 
nature?

